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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 13 questions.

(it)  All questions are compulsory. Marks are indicated against each question.

(iti) This question paper contains 5 questions of 2 marks each, 5 questions of
3 marks each and 3 questions of 5§ marks each.

(iv) 2 marks questions are Short Answer Type Questions and are to be
answered in 30 — 50 words each.

(v) 3 marks questions are also Short Answer Type Questions and are to be
answered in 50 — 80 words each.

(vi) & marks questions are Long Answer Type Questions and are to be
answered in 80 — 120 words each.

(vii) There is no overall choice in the question paper. However, internal choices
have been provided in few questions. The candidates need to attempt only
one question from such questions.

(viii) This question paper contains Case/Source Based Question also.

1. (a) If the Real Gross Domestic Product is ¥ 16,000 crores and Gross
Domestic Product at current prices is ¥ 20,000 crores, calculate

the value of price index. 2
OR
(b)  Giving valid reasons, classify the following into stock and flow
variables : 2

(1) Production of wheat during the year 2020 — 21

(ii) National Income of Indian Economy during the financial
year 2020 — 21

2. “Economic development in India has been accompanied by environmental
concerns.”
Do you agree with the given statement ? Give valid reasons in support of
your answer. 2
3. “The nature of work in urban areas is different from rural areas.” Justify
the given statement with a valid explanation. 2
4, (a)  You are given the consumption function of an imaginary economy,
C =100 + 0-8Y, where C = Consumption and Y = Income.
Calculate : 2

(1) The value of Marginal Propensity to Save (MPS)
(11)  The level of income at Break-Even Point

OR
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(@) S=-60+01Y, Sad e 8, &1 S = dad 9 Y = UK 31T qA
refegaEet ¥ fHas =29 (1) = T 4,000 HUS ? |
3™ % Gder & (Equilibrium level) 31 T0HT SIS |

5. (%) dJfc Tt srefegawen ¥ o s=a, fanfsa faw @ oifuss B, a1 &
3cqTed F SR W 984 Il THTd T9TE 1 38 hilNTu |
T

(@) afe foret sredegazen o FanfSa s, Fanfsa faw @ <0 2, o s
3AATET I TSR W IS dTel AHTfad J9TE 61 3g@ I |

6.  “1970 % < & Ad U, ARG hl U =4 I SaET | auit & fiee smef
off |”

39 gifeufd o SR 9 99TE &l T HIfT |

7.  Torelt Tse o wareey fedrfa o A9 T HEEes TRl €1 Hehdehl 1 3g@ o SATET
%”éQ |

8.  ¥g WHd 3¢ Tk, fremr o ufad™ (AD) = T 4,000 s qm Hwid YT T
(MPC) = 0-5 3, a1 1ures (K) st sl ufshan <t waw & forermn Shifs |

9. NG 3R YIfhEd™ gra 319ATs T8 foheal @ oM foermarcass WiHifaa ki @fereq
IEEECIEAIS I

10. (%) S & Thi (Idal) JaTg o fafirs =on it gaw o smen Hifu |

AT

(@) 3afe forelt orofeuaeen #, Iwdfas Fha = 3G (Real GDP)
T 300 TS 9 Hed FIhh (IMER = 100) 110 7, A1 Hifgeh Hobed T
3c91e (Nominal GDP) shl TUFT shifSiT |

11. (%) “SUHM 5 9 F9d G5k Th-gE o Ik & | 91 9 39 HUA ¥ HgHd
2 ? AT SR g SRS ST |

(@) “P rdfearyn # rawhifa ot feufa i fRfa e o aeg # § 17
feoquft Sifsm |
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(b) S =-60+ 01Y is the saving function, where S is Saving and
Y is National Income and Investment Expenditure (I) is
T 4,000 crore in an economy.

Calculate the Equilibrium level of Income. 2
5. (a) If planned savings exceed planned investments in an economy,
state its likely impact on output and employment. 2
OR

(b) If planned savings fall short of planned investments in an
economy, state its likely impact on output and employment. 2

6. “In the late 1970s, China’s population growth rate had sharply declined
as compared to India.”

Elucidate the reason and impact of this situation. 3
7. State and discuss any two indicators that help in measuring the health

status of a country. 3
8. Discuss briefly the working process of investment multiplier (K),

assuming that Change in Investment (AI) is ¥ 4,000 crore and Marginal

Propensity to Consume (MPC) is 0-5. 3
9. Discuss briefly any two similar development strategies followed by India

and Pakistan. 3
10. (a) Briefly explain the different phases of circular flow of income. 3

OR

(b) In an economy, if the Real Gross Domestic Product (GDP) is
T 300 crore and Price Index (with base = 100) is 110, calculate the

Nominal Gross Domestic Product. 3

11. (a) “Consumption and saving curves complement each other.” Do you
agree with the statement ? Explain with valid reasons. 2

(b) “Taxes help to curb deflationary situation in the economy.”
Comment. 3
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12. (%) F=fafaa simest @ gwize fo asda o, o fafy 9 = fafy g &

HHH @?ﬁ % :
e a
T (T =Us H)
() | 3ug =i (-) 60
(i) | 3G ATTd BT 150
(i) | JaTeH femy 740
(iv) | pU=TREt o1 qriesrfies 1,400
(v) |faesi @ urea g @mem o 40
(vi) |-t f fmtda sm 1,000
(vil) | S[g TRey TART el Fmior 500
(viii) | E2feh H qiEdH (-) 100
(ix) |HcIB™ 100
x) | eIt suwm == 2,000
(xi) |oeprdt 3rfaqy U == 1,000
Jrera
@) ) Te=fRaa stiest @ yemem AfRy & ToET i
R atn
T (T *Us #)
(i) | pH=iEt o1 grierfies 300
(i) | TIcTT B 200
(iii) | TATHT Yt T STHM 100
(iv) | 39CH 50
(v) | ®T€9 AT T Ehd W] 391G (GDPy) 650

(i) Toesn @ 9t g G1eH A I GEF Tl BT &Y H Ioohkd
T == I |

: B



(a)  From the following data, show that the National Income will be

same from both Income Method and Expenditure Method : 5
S. No. | Items (ir??oc:i)l;e)
(i) Net Exports (=) 60
(i1)) | Net Indirect Taxes 150
(iii) | Operating Surplus 740
(iv) | Compensation of Employees 1,400
(v) | Net Factor Income from Abroad 40
(vi) | Mixed Income of Self-Employed 1,000
(vii) | Net Domestic Fixed Capital Formation 500
(viii) | Change in Stock (=) 100
(ix) | Depreciation 100
(x) | Private Final Consumption Expenditure 2,000
(x1) Governrpent Final Consumption 1,000
Expenditure
OR
(b) @) Calculate the operating surplus from the following data : 2
S. Ttems .Amount

No. (in ¥ crore)
(i) | Compensation of Employees 300
(i) | Indirect Taxes 200
(iii) | Consumption of Fixed Capital 100
(iv) | Subsidies 50

(v) | Gross Domestic Product at Factor Cost

(GDPy,) 650

(ii)  State and discuss briefly the three main components of Net
Factor Income from Abroad. 3
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A/ TG 999

[Heiciga T &1 €FYaE TIeT | 1]T T TE F GET 199% & YR W T
gegr 18 (&) 13 (@) & 3T v :

ST oh HEAT § foehfdd Hifd SN gehieh, 77 Had foehrE @& Hehdshi
(SDG indicators) T 56 Y&l &1 sl 1o a1 8 | Tadd faehrd A& (SDGs)
TRt <1 I | aem |t Tl W SDGs h1 Witd T yoret Tenfua
o foe Aifd IRt 4 2021 — 22 9 SDG W& gaehieh 9 SvEe foshfed foram 3 |

I YR T W80 o TR W SDG FATHFRT a1 &A™ hl T *f 438
HAT | i TN & STHER, T8 GAHIh Alhel ! R qon faifén yonfer
I GeRI 9 HHAT T THN SAA g | 39 AR H T IUHT Th UH
urifefas @ 1 fmin s o aft fgaumest @ stfwei & e w fol
T g AN S § Ferar et |

Hifa SR 1 9= 8 foh wRa # faeera & wfosy h S SR R | gER
TR0 R &A1 ol Tl THEdN %k HeAs qg URAd hIhl AEWH 2 | 39
goehieh § TEfTd 56 Wedl &1 § ¥ 44 &K T Aforeq @ Afesh smmend) ame
IR T |

Hifd 3T % FER Y% SDG % Tolw gt &= &l 0 — 100 3 J0H 9 /797
TR | & =R A e 7 ok =afaa & 9 2030 & Fwifa @t f wifta
&t 7 | I S R 1 e 2 T wafa wel @ weiy TR I S 8 96y
T2 10— 49 % TR YT A ATt @ 1 A& TR % &9 H W1 g,
50 — 64 dTcT TG ! THITL el T 7, 66 — 99 I I Hhe-TR T 100 TR
A & I Il hel T R |

GId : The Economic Times; November 23, 2021 (Modified)
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Case/Source Based Question

Read the following text carefully. Answer questions number 13 (a) and 13 (b) on

the basis of the given text and common understanding :

The NITI Aayog Index developed in collaboration with German
cooperation, ranks 56 urban areas on 77 Sustainable Developmental
Goals (SDGs) indicators. In its journey of localization of the Sustainable
Development Goals (SDGs) and creating SDG’s progress monitoring
system at all levels, the NITI Aayog has developed the SDG Urban Index
and Dashboard in 2021 — 22.

The index will strengthen SDG localization and institute monitoring at
the various cities level. According to the NITI Aayog, this index
highlights the strengths and gaps of data monitoring and reporting
systems. The tools used in the index will contribute to the creation of an
ecological system in which all stakeholders will be equipped to adopt and

implement data-driven decision-making.

The NITI Aayog is of the view that this transformative change is quite
essential, given the increasing prominence of our cities and urban areas
in charting the future of development in India. Out of 56 urban areas

ranked in the index, 44 are with population above one million.

As per the NITI Aayog, for each SDG the urban areas are ranked on the
scale of 0 — 100. A score of 100 implies that the urban area has achieved
the targets set for 2030. A zero score implies that it is the farthest from
achieving the target among the selected urban areas. The areas with
score between 0 and 49 have been ranked as aspirants, those with
50 — 64 are termed as performers, 66 — 99 are called front-runners and

ones with perfect score are called achievers.

Source : The Economic Times; November 23, 2021 (Modified)
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qaq foehtd ST ohid § T TR g=ehieh g IMHA fohegl &1 <ROT hl
=TT i |

“sreft &=t sl 0 — 100 % 99 W) AT S |7
Hifa 3 gra SuATe 8 IR vumeft <A samen hifSu |
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13. (a)

(b)

Outline any two steps involved by the NITI Aayog index in

attaining sustainable development.

“Urban areas are ranked on the scale of 0 — 100.”

Elucidate the ranking system adopted by the NITI Aayog.

11 5.



